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QID : 101 - In the following question, select the related word from the given alternatives.
Player : Team : : Minister : ?

frafafted uy & fow TU el & 9 9fd <1sg &1 gl

[EC 1 I L2 IR |

Options:

1) Army

2) Troupe

uSHl

3) Council

4) Crowd
STHHg

Correct Answer:  Council

N

Candidate Answer:  Council

N

QID : 102 - In the following question, select the related letters from the given alternatives.
TRACK : MECTV : : POND : ?

frafatea uy & faw 7U fawedl & 9 99 sieri o gul

TRACK : MECTV : : POND : ?

Options:

1) EOPQ

2) FPQR

3) GOQQ

4) HPPR
Correct Answer:  FPQR
Candidate Answer:  FPQR

QID : 103 - In the following question, select the related number from the given alternatives.
850:863::430:7?

Frafafed vy # fau e el # ¥ Hefda e &1 ghul

850:863::430:7

Options:

1) 437

2) 442

3) 435

4) 451
Correct Answer: 437
Candidate Answer: 437

QID : 104 - In the following question, select the odd word from the given alternatives.

frafared uy & faw U fawedt & 9§ favm weg &1 ghu)
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Options:

1) Cotton
DU

2) Mustard
At

3) Peas
HXR
4) Sesame

Correct Answer:  Cotton
DU

Candidate Answer:  Cotton
Gain:)

QID : 105 - In the following question, select the odd letters from the given alternatives.

e vy & fow 7u fawed ¥ fwm sieri &1 gfu
Options:
1) CXA

2) MNQ
3) PKN

4) HSU
Correct Answer:  HSU
Candidate Answer:  MNQ

QID : 106 - In the following question, select the odd number pair from the given alternatives.

fafoRad gy ¥ U U fawedl & 9 faww e gm & gl
Options:

1) 64— 576

2)17 - 343

3)27-19%

4)32-36
Correct Answer: 17 — 343
Candidate Answer: 32 - 36

QID : 107 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Yangtze
2. Yakking
3. Yakuzas
4. Yobbery
5. Yobbish

faffed Weal &1 AP T 3 aTd 1 & IR |
1. Yangtze
2. Yakking
3. Yakuzas

4. Yobbery
5. Yobbish

Options:
1) 24531
2) 23145
3) 54231

4) 54321
Correct Answer: 23145
Candidate Answer: 23145

QID : 108 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AK12, GV29, LF18, PO?
T 3Ry foar man g, o ¥ Ue U gw B 3 MU fawedt § 9 9 udt fawen g, St o d B |

AK12, GV29, LF18, PO?



www.makemyexam.in - Powered by IBT
Options:
1) 34
2)31
3) 42

4) 40
Correct Answer: 31
Candidate Answer: 31

QID : 109 - In the following question, select the missing nhumber from the given series.
21, 26, 33, 42, 53, ?
frafafed uy & faw 7 fAwed § ¥ g 8id 1d Sifm

21, 26, 33, 42, 53, ?
Options:
1) 56

2) 63
3) 66

4) 69
Correct Answer: 66
Candidate Answer: 66

QID : 110 - Ratio of present ages of Pankaj and Punit is 5 : 6 and the sum of their ages is 33 years. What will be the difference (in years) of their ages?

Tebol qUT I B aHT 3T BT U 5 : 6 8 TUT ST 311G BT AT 33 I8 81 It 3 H e 3R (auf #) 82
(1))pt2ions:

2)3

3)4

4)5
Correct Answer: 3
Candidate Answer: 3

QID : 111 - Kritika walks 40 metres towards south. Then turning to her right she rides 30 metres. Then, turning to her left, she rides 50 metres. Again, she turns to
her left and rides 30 metres. How far (in metres) is she from her initial position?

PlawmT S 3 ok 40 Wex e ¥ fFR I8 3oF T SR e 30 Hier Iar 31 R 98 oo T 3R TEa 50 Hier Iadt 81 98 T 30 1 3R gSahr 30 iR
Terdl B 1 98 30 3Rt W  fbat gt (Hex H) W B2

Options:
1) 65

2) 70
3) 80

4) 90
Correct Answer: 90
Candidate Answer: 90

QID : 112 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
CONSOLIDATE
fau e uy ¥, Fufaed e & 9 a8 Wsg gAY S 3T 71U e & 1eRY T TN IR T ST o 9T 3|

CONSOLIDATE
Options:

1) CONSOLE
2) ONSET

3) SALTY

4) SOLID

Correct Answer:  SALTY
Candidate Answer:  SALTY

QID : 113 -In a certain code language, "STUBBORN" s written as "VUTAAOSP" . How is "SHIPPING" written in that code language?

T fafiy &S U &, "STUBBORN" &I "VUTAAOSP"  foraT Tl 31 39 1S HTWT & "SHIPPING" ! fbd UepR e Siaem?
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Options:
1) TIJOOHP]

2) QFOLLSLO
3) TIINNOJH

4) JITOOHOJ
Correct Answer:  JITOOHOJ
Candidate Answer:  JITOOHOJ

QID : 114 - Correct the following equation by interchanging the two signs and two numbers.
7x6+5-4=33
frafafrea gt & f5gt &1 oo fogl 3 & Tesll & IRER Seams Ul Hifem|

7x6+5-4=33

Options:

1)-,xand 4,5

-, XdYr4, 5

2)x,+and 4,5

X, + a1 4, 5

3)+,—-and5,6

+,—dYls5, 6

4)x,—and 5, 6

X, —d4l5, 6

Correct Answer: +,—and5, 6
+,—dYls5, 6

Candidate Answer: X, +and 4, 5
X, + 441 4, 5

QID:115 -If3@3*3=3and48@4*3=36,then91 @ 13*2="7

tlﬁ3@3*3=3Ff%ﬂ48@4*3=36%,?ﬁ91@13*2=?
Options:

1)4

2)8

3) 10

4) 14

Correct Answer: 14

Candidate Answer: 14

QID: 116 -
In the following guestion, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

g uy & Gr o faseur & ¥ uww =g
(?)%F TIE W HEA Il gEw wF A

1213|156
14| ? [ 154
15 |13 | 195

Options:

111

2) 16

3)21

4)31

Correct Answer: 11
Candidate Answer: 11
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QID: 117 -
How many triangles are there in the given figure?

& o st A Reet gt ¥

/

Options:
111

2)9
3) 10

4) 12
Correct Answer: 10
Candidate Answer: 9

QID : 118 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. No purse is cloth.
IL. All purses are leather.

Conclusions:

I. No leather is cloth.
I1. Some leather are cloth.
III. Some leather are purses.

F2 fou T Uy § $ o IR IF 91¢ 39 HUH R HYIRG T2 s 3w e B, graifes 38 e grd auat 3 i 8wt 71 vt freed ug oiR fisr faffea
B R T | s, 3T MU Syt & SR W gfaadid g

DY

1. B o FUST T B
11 gt of Tmer B

e

L $IS 5 ST 7 ¢

II. $& 99T HUST 7

111, $© THsT 74 g

Options:

1) Only conclusion (I) follows.
e (1) ¥ &

2) Only conclusion (III) follows.

Paa sy (111) 98 2

3) Only conclusion (I) and conclusion (II) follow.
s (1) qur s (11) It B

4) All conclusions follow.

Tt freendf Wt B

Correct Answer:  Only conclusion (III) follows.

Paa ey (111) Tet B

Candidate Answer:  Only conclusion (III) follows.

Faa ey (101) 98 21
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QID: 119 -
Three positions of a cube are shown below. What
will come opposite to face containing ‘1'?

#=r o g & AT gEAT A T &I 3F
1'% g wold UT Hid BT HF A2

6 1.7 ..J--21
4 3)
2 6|/ |5
e
Options:
1)2
2)3
3)4
4)6

Correct Answer: 4
Candidate Answer: 4

QID : 120 - Identify the diagram that best represents the relationship among the given classes.
Brother, Husband, Men
I8 3 9T S < 3w U ovif & e & Tde b1 TE) U0 e B

urg, ufd, g
Options:

1)

Correct Answer:

Candidate Answer:

®
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QID: 121 -
Which answer figure will complete the pattern in the
guestion figure?

i d 3R HFA T IFia & UawT & QT
wM?

)
1Ly
/

*~J

Options:
1)

Correct Answer:

\
JoN

Candidate Answer:

\
N

QID: 122 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& a8 3 APaAl F ¥ IH 39 HF P g
B & oy amgla Bifa &

h




www.makemyexam.in - Powered by IBT

Options:
1)

Correct Answer:

Candidate Answer:

QID: 123 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ F Uy Hgladl # fEmw wgER Fee @
AZhT S dUT Wield & a1 9g &y 39T Hgla
s s game

)
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Options:
1)

AN 4N

Correct Answer:

Y

Candidate Answer:

Y

QID: 124 -
If a mirror is placed on the line AB, then which of
the answer figure is the right image of the given
figure?

afg e gdur @ AB IWT W IW@T ST, ar & T
IO HTeOal & ¥ Bid @ AT U e A

Ter ufafesa gefre

A

m
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Options:

-
~

N
~

@ |G B &

w
~

D
~

Correct Answer:

@

Candidate Answer:

@

QID: 125 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrixdl are numbered from 5 to 9. A letter from these matnces can
be represented first by its row and next by its column, for example, ‘D’ can
be represented by 68, 95, etc., and ‘P’ can be represented by 75, 97, etc.
Similarly, you have to identify the set for the word “BAND”_

UE g hadl Uh HEAT-HAE gRT GUT AT §, ok fs faweut # @
ol v # fGar e §) Rweut # Bu v yemr-weE Hawi & @1 avif
g’ axiw aw §, St s A R o Y aneqpt A ¥ anegpl & wen
T ufeh 1 HEEr 0 H 4 & o §, 3N wegs 5 91 39 Iegyl
UF IR A uge sah of 3R ae # Tawer dwa gr griar aam §
3G & foT D’ 68, 95, TG NI ERAT S FehaT ¥ TUT ‘P’ I 75,
o7, g gRT g 1 awar §1 s oee @ due ow & R aw s
“BAND” @ oI @efp o UggEeT &

Matrix-lI Matrix-ll
-l Il
0j1]2|3(4 5|6|7([8]|9
0|B|C|K|N|S 5/A|0|T|P|D
1|K|B|S|C|N 6|TIP|A|D|O
2|C|S|N|B|K fIPIDIO|T|A
JINIK[B|S|C 8|0\ T|IDIA|P
4|S|IN(C|K|B SID|A|IP|O|T

- Powered by IBT
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Options:
1) 23, 76, 22, 77
2) 11, 67, 40, 95
3) 00, 55, 03, 59

4) 44, 89, 30, 87
Correct Answer: 00, 55, 03, 59
Candidate Answer: 00, 55, 03, 59

QID : 126 - In which of the following case, law of demand fails?

fafafad & 9 ey ufefufa &, 9ft &1 o s/awa 8 o 82
Options:
1) Giffen googs

2) Normal goods

TR TG

3) Inferior goods

4) Both Giffen and Inferior goods

o gt aur T ae
Correct Answer:  Giffen goods
g asq

Candidate Answer: [ NOT ANSWERED ]

QID: 127 -
Match the following.

Teag & Fee fiaT

Form of Market/ Number of sellers
AR FT UPR and Buyers /
faharsit aor st
& =T
1. Oligopoly a. Large number of sellers and buyers
HeuTfIaR Heafow foprar T shar
2. Monopoly b. A few big sellers and
THITFRIT a large number of
buyers
TO g8 Tahar g
HeATE hell
3. Perfect ¢. One seller but large
Competition number of buyers
ot afeifrE e frpaT g
At an

Options:
1) 1-b, 2-¢c, 3-a
2) 1-c, 2-a, 3-b

3) 1-a, 2-b, 3-c

4) 1-b, 2-a3, 3-c

Correct Answer:  1-b, 2-c, 3-a
Candidate Answer:  1-b, 2-a, 3-c

QID : 128 - How many fundamental Rights are mentioned in Indian constitution?

HRATT Ty & foba Miferp iR Iwifad 82
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Options:
1) Five
LIES

2) Five
LIES

B¥%

3) Seven

id

4) Eight

31S

Correct Answer:  Five
g

B8

Candidate Answer:  Five
g

B8

QID : 129 - Which of the following Article/Articles cannot be suspended even during emergency?

fofoiaa & 9 fra/fe sre/srI=al & STUTaHTd & SR RIfId =TeY faar o1 Yaware
Options:
1) Article 19
THE 19
2) Article 20 and 21
20 Ty 21
3) Article 22 and 23
TG 22 qUT 23
4) Article 24 and 25
24 Y1 25

Correct Answer:  Article 20 and 21

SFT=YT 20 T 21

Candidate Answer:  Article 20 and 21

SIS 20 TqUT 21

QID : 130 - Who was the first Viceroy of India?

HRA BT TUH TR SRS BT UT?
Options:

1) Lord Canning

e B

2) Lord Curzon

TS o

3) Lord Wavell

e Jaq

4) Lord Mountbatten
e Ardeae

Correct Answer:  Lord Canning

TS BT

Candidate Answer:  Lord Mountbatten

QID : 131 - Who wrote 'Nyaya Sutra'?

R e foret?
Options:

1) Vyasa

a

2) Gautam

3) Kapila
EIEG]

4) Charaka
TP

Correct Answer:  Gautam

Candidate Answer: [ NOT ANSWERED ]

QID : 132 - Earth's Deepest point in water is Mariana trench. It is located in which of the following oceans?

A 7 gt & ot & watfe et W 81 9 Fefaied # § frw meramR § fa 72
Options:

1) Atlantic Ocean

3% HENTR

2) Arctic Ocean

DT HGRITR

3) Indian Ocean

fé< TeRTR
4) Pacific Ocean

IR HeRTR



www.makemyexam.in

Correct Answer:  Pacific Ocean
YR HEHTR

Candidate Answer:  Pacific Ocean
YR AR

QID : 133 - Masai is a tribe of which of the following country?

7o A § @ 5 9 Y S 82
Options:

1) Kenya

El|

2) Germany
S
3) Australia

4) India
HRd
Correct Answer:  Kenya

Candidate Answer:  Kenya

QID : 134 - With which of the following body organ is 'pace-maker' associated?
o § 9 o9 3 o I U9 A’ Weifdd 32

Options:
1) Liver
2) Brain
ORI

3) Heart

gad
4) Lungs
BHs

Correct Answer:  Brain

Candidate Answer:  Heart

gy

QID : 135 - Haemoglobin is an important component of

OAfeT ST g U 7l
Options:

1) white blood cells

&d 7 g

2) red blood cells

NISEGH g

3) plasma

TeATGHT

4) All options are correct

it fopeT Tt ©

Correct Answer:  red blood cells
NISECH

Candidate Answer:  red blood cells
NINEES]

QID : 136 - Anaemia is caused because of deficiency of which of the following?

fPrafiea & § b 1 it & BRo T gt 82
Options:

1) Cobalt

2) Iron

3) Sodium

Hifeay

4) Calcium

Correct Answer:  Iron

Candidate Answer:  Iron

QID : 137 - What is the minimum distance (in metres) required to hear an echo?

TRt G & o < g (R §) freed € TR

- Powered by IBT
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Options:
1) 10
2) 13

3)17

4)21

Correct Answer: 17
Candidate Answer: 13

QID : 138 - Why does a black board appears black in colour?

T HUg 1§ Hren ol e e g2
Options:

1) It reflects black colour

IE PIe T e IR &

2) It absorbs black colour

TG HTCAT T AN Hal §

3) It reflects all colours

I8 IR 1 vfafefad wrar ®

4) It absorbs all the colours

I% IR [T G Bl §

Correct Answer: It absorbs all the colours
I8 IR T AT AT &

Candidate Answer: It absorbs all the colours
I8 TR T 3@ BT 3

QID : 139 - Which one among the following is a main system board of a computer?

Fofeied o ¥ H1F 91 T TS 1 HHELR B 5 e 32
Options:

1) CPU

Aty

2) Keyboard

Plars

3) Microchip

4) Mother board
Correct Answer:  Mother board

Candidate Answer:  Mother board

QID : 140 - Which among the following metal is used for galvanization?

- Powered by IBT

faorelt & u1g gem B! fo5an a1 Aeg-iavor & fRufafed o 9 s g &1 Iuai fasan S 82

Options:
1) Zinc
ST

2) Copper
ara

3) Iron

4) Silver

Correct Answer:  Zinc
ST

Candidate Answer:  Copper
GIEH

QID : 141 - What is dry ice?

T o a1 318 SHe o B2

Options:

1) Solid Carbon dioxide

B PTa SRATHES

2) Solid Nitrogen djoxide

3 ASCIoM SEHIaEs

3) Solid Sulphur dioxide

3 TR IRSNARS

4) Solid Water

3 A

Correct Answer:  Solid Carbon dioxide
B FTa SRAHTHES

Candidate Answer:  Solid Carbon dioxide
3 FT SRHTRSS
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QID : 142 - Which of the following represents the most complex trophic level?

i & 3 $F Jfea Nfdwdl TR 3 i 8?2
Options:
1) Community

qqara

2) Population

EENEe

3) Ecosystem
LES

4) Species

Terfaar

Correct Answer:  Ecosystem
GES

Candidate Answer: [ NOT ANSWERED ]

QID : 143 - Chief Minister of Andhra Pradesh launched a medical scheme for APL families. What is the name of that scheme?

TS TR B TEwAT A U i, U, uRaR! % o T W Ao BT YURY a1 81 39 AT T o1 1 €2
Options:
1) Fliaritha Kalyanam

BT By

2) Arogya Raksha
SR &

3) Kalyanamsurvay

4) Swasthya Raksha
AR &1

Correct Answer:  Arogya Raksha
SR &M
Candidate Answer: [ NOT ANSWERED ]

QID : 144 - Who discovered X-rays?

X foor ot @it foem 3t o
Options:
1)W. C. Rgentgen

T, I, MesH
2) Albert Einstein
TS 3T

3) Samuel Cohen

4) Edward Taylor
TEaE TR

Correct Answer: ~ W. C. Roentgen

T, I, MesH
Candidate Answer: ~ W. C. Roentgen

Sy, . e

QID : 145 - How many players are there in a water polo team?

S I (A B T A s e 8 &2
Options:

1)6

2)5

3)7

4)8

Correct Answer: 7

Candidate Answer: [ NOT ANSWERED ]

QID : 146 -'Lavani'is a dance form of which state in India?

AU Tlies T HRd & o o | el 82
Options:
1) Maharashtra

G E_
2) Gujarat

3) Madhya Pradesh
o UG
4) Andhra Pradesh
SHT8T TR

Correct Answer:  Maharashtra

Candidate Answer: [ NOT ANSWERED ]

QID : 147 - Who is being awarded with Asian Award 2016 as the Chivas Social entrepreneur of the year?
59 99 & feare wmfore awrd & e R REeR 2016 ¥ FEAd foar T 82
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Options:
1) Vikram Patel
[CEZRSEL]

2) Shri Prakash Lohia
off TepTT SAfRam

3) Rami Ranger
AR

4) Anil Agarwal
S Srard
Correct Answer:  Vikram Patel

fawa uea
Candidate Answer: [ NOT ANSWERED ]

QID : 148 - The book "Azad Bachpan ki Aur" is written by which author?

"3TSATE; SO BT 3R AT YRaeh [ TRaep gIRT ferl TS 82

Options:

1) Kailash Satyarthi

Famer et

2) Radhakant Bharti

YT YR

3) Dipak Misra

o fiysn

4) Subhash Chandra

Y T

Correct Answer:  Kailash Satyarthi
et

Candidate Answer: [ NOT ANSWERED ]

QID : 149 - India by the Nile', was a cultural festival celebrated by India and .

3T I € AR TG IRGfAD I8 HR AT FINEEICIRICIR
Options:

1) Sudan

2) Kampala

T

3) Egypt

o

4) Kenya
El|
Correct Answer:  Egypt

Candidate Answer: [ NOT ANSWERED ]

- Powered by IBT

QID : 150 - Sheikh Hasina Wazed is the Prime Minister of which neighbouring country of India?

g g, URD & frd TSI o i wemEEh 82
Options:
1) Pakistan

2) Bangladesh

CRGIER

3) Afghanistan

CRTIEISIE]

4) Nepal

BLIG

Correct Answer:  Bangladesh

C@ndidateAnswer: Bangladesh

QID : 151 - What is the value of [12/(V5 + V3)] + [18/(V5 - V3)]?
[12/(V5 + V3)] + [18/(V5 - V3)] ST A T 8?2

Options:

1) 15(v/5 - V3)

2) 3(5V5 + V3)

3) 15(v5 + V3)

4)3(3V5 + V3)
Correct Answer:  3(5V5 + V3)
Candidate Answer:  3(5V5 + V3)
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QID : 152 -S, T and U can complete a work in 40, 48 and 60 days respectively. They received Rs 10800 to complete the work. They begin the work together but T
left 2 days before the completion of the work and U left 5 days before the completion of the work. S has completed the remaining work alone. What is the share of S
(in Rs) from total money?

S, T TUT U TS BT &I HHRE: 40, 48 TUT 60 37 W 1 I &1 B 31 G- A= & o 37 10800 T e ¥ I w1l 1 U 1Y URH 351, g T 1 WA 9 2
7 ugd qur U &1 @1 819 9 5 37 ugd w1 &) BieaR 9a1 ST 81 S /W 1 Y srber guf drar 31 Pl A 7 ¥ s &1y (3 W) fra 82

Options:

1) 4000

2) 4320

3) 4500

4) 4860

Correct Answer: 4860
Candidate Answer: [ NOT ANSWERED ]

QID : 153 - A farmer's land is in the shape of a trapezium which has its parallel sides measuring 2.56 yards and 3.44 yards and the distance between the parallel
sides in 1.44 yards. The cost of ploughing the land is Rs 1800 per square yard. What amount will (in Rs) have to be spent in order to plough the entire land?

T fHTM & U1 T HMHR P THH § ORIt TR Yol 3 TS 2.56 T quT 3.44 T g a1 IR yotslf & g 1.44 7191 81 5 & Sl &1 @t
1800 % Ufdy o 7191 B 1 ) W Y Sile & forw et iRy (2 ) @ g

Options:

1) 3672

2) 6732

3) 7776

4) 8214

Correct Answer: 7776
Candidate Answer: [ NOT ANSWERED ]

QID : 154 - If after giving a discount of 18%, a book is sold for Rs 1599, then what will be the marked price (in Rs) of the book?

I U fhaTe B 18% P ¥e 3 & UL 1599 T | §T STl B, Y b o1 3ifdd Hew (3 o) 1 gm?

Options:
1) 1800
2) 1880
3) 1950
4) 2000

Correct Answer: 1950
Candidate Answer: [ NOT ANSWERED ]

QID : 155 - A man has 3 sons, 2 daughters and a wife. They divided a sum of Rs 19000 among themselves such that each daughter got 1.5 times the amount
received by each son and his wife received 600 less than each son. What is the total amount (in Rs) received by the 3 sons together?

TP e & diF 92, &Y fedT 9T Us Uil 81 3% 19000 T B U M B 0T H 59 YHR Sl Bt QD dct &) TS 9 9 1.5 TAT A i qur 3Tt ueit Bl
TS 9 Y 600 T HH el AT ST B er arelt et AR (T H) M R?

Options:

1) 2800

2) 3600

3) 5600

4) 8400

Correct Answer: 8400
Candidate Answer: [ NOT ANSWERED ]

QID : 156 - The average of 3 consecutive even numbers is A. If next 5 even numbers are added, then what is the average of these 8 numbers?

3 NI T TS BT 3d A B fe 3rTeht 5 T Tonaii o1 it fobar S 8, o 59 8 TBah o1 3Ngd o1 87

Options:
1)A+3
2)A+4
3)A+5
4)A+7

Correct Answer: A +5
Candidate Answer: [ NOT ANSWERED ]

QID : 157 - While selling an article for Rs 18450, a person suffered a loss of 50%. At what price he should have sold the article (in Rs) to earn a profit of 50%?

T I B 18450 . HT §9 R U G B 50% Bt I Sl §1 50% BT A1H U I & o0 I I B! {59 iad (3. H) W S Fnfe?
Options:
1) 13837
2) 52000
3) 55350
4) 56775

Correct Answer: 55350
Candidate Answer: 55350

QID : 158 - The present population of a town is 26010. It increases annually at the rate of 2%. What was the population of town 2 years ago?

TH AR P qIGH TG 26010 71 ITH TAF a9 2% BT X § I St 81 2 99 Ugel R B s e
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Options:

1) 25000
2) 25100
3) 25200
4) 25500

Correct Answer: 25000
Candidate Answer: [ NOT ANSWERED ]

QID : 159 - A train of length 100 m crosses another train of length 150 m, running on a parallel track in the opposite direction in 9 seconds. If the speed of train
having length 150 m is 40 km/hr, then what is the speed (in km/hr) of the other train?

TH 100 Hiex qwit YerTe! gast 150 Hier Tl YRSt ot 3! THFIR et W fAuld = & 9a 6 g, &1 9 Ids o uR &t 31 afe 150 Hiex awit Yot 3 fa
40 fop. 1. /eer B, A g Yorme Y vfa (. /eer W) @ 22

Options:
1) 30

2) 48
3) 50

4) 60
Correct Answer: 60
Candidate Answer: 60

QID : 160 - What is the compound interest (in Rs) for 1 year on a sum of Rs 20000 at the rate of 40% per annum compounding half yearly?

20000 F. TR 40% P! A R I refaifer GaeH Rt ¥ & Ihafe = (3. 7) 782
Options:
1) 8000

2) 8650
3) 8750

4) 8800
Correct Answer: 8800
Candidate Answer: 8800

QID : 161 - What is the difference of the cube and square of the common root of (x2 — 8x + 15) = 0 and (y2 + 2y — 35) = 0?

(x2 - 8 + 15) = 0 TUT (y2 + 2y — 35) = 0 & WA AP & g9 GUT I &b did BT 3R T GH?
Options:
1)76

2) 100
3) 294

4) 318
Correct Answer: 100
Candidate Answer: [ NOT ANSWERED ]

QID: 162 -

2
If [x—%] +(y—‘4)2 =0, then what is the value of i

. 3 Y
uﬁLx_EJ s(y-4P=07 @ — & T FT L

Options:
1) 11/13
2) 13/11
3) 16/9
4)9/16

Correct Answer:  13/11
Candidate Answer: [ NOT ANSWERED ]

QID : 163 - What is the difference of the factors of the expression x2 + (1/x2) — 6?

TH X2 + (1/x2) — 6 P UFIS] BT 3faR T §?
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Options:
10

2)1
3)2

4)4
Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

QID : 164 - If x + (1/x) = V13, then what is the value of x> — (1/x°)?

T x + (1/%) = V13 8, @ x5 = (1/x) &I HF 1 872
Options:

1) 169

2) 169V3

3) 393

4) 507

Correct Answer: 393
Candidate Answer: [ NOT ANSWERED ]

QID : 165 -If D and E are points on the sides AB and AC respectively of a triangle ABC such that DE||BC. If AD = x cm, DB = (x — 3) cm, AE = (x + 3) cm and EC
= (x — 2) cm, then what is the value (in cm) of x?

T G ABC & YGT3if AB qUT AC TR HHRT: fafg D T E 59 UsR fyd § &5 DE||BC §1 afg AD = x 9.1, DB = (x - 3) .41, AE = (x + 3) .1, QUTEC = (x - 2)
. 8, A xwraq @M@ A e

Options:

1)3

2)3.5

3)4

4) 4.5

Correct Answer: 4.5

Candidate Answer: [ NOT ANSWERED ]

QID : 166 - If medians of a triangle have lengths 18 cm, 24 cm and 30 cm, then what is the area (in cm?) of the triangle?

et Py ot afeysisht ot @t 18 9.1, 24 T, Tur 30 A4, B, N BYS &1 & (.42 &) T g2
Options:
1) 24v6

2) 244
3) 288

4) 360
Correct Answer: 288
Candidate Answer: [ NOT ANSWERED ]

QID : 167 - Two smaller circles touch a large circle internally and pass through the center O of the larger circle. If the diameter of the bigger circle is 28 cm, then
what is the area of the bigger circle which is not enclosed by the two smaller circles (in cm?)?

3 Y 99 U Y g9 &1 AR W=l #d § 9T < 99 & $% 0 J ToRd 71 IS e ga &1 o 28 9.4, 8, A e g7 &1 o S (.2 F) | R, S Sl @Y
Tl gRT Il TEf 82

Options:

1) 154

2) 256
3) 308

4) 616
Correct Answer: 308
Candidate Answer: [ NOT ANSWERED ]
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QID: 168 -
In the given figure, O is the incenter of triangle
ABC. If AO/OE = 5/4 and CO/OD = 3/2, then what is
the value of BO/OF?

& o el #, Pl ABC &1 da:dg O ¥l TR
AOIOE = 5/4 gur CO/OD = 3/2 ¥, &t BO/OF @t

AT F4T &2
A
N

D \ F

/>ke\

£ pt H\\\

B E C

Options:
1) 19/14
2) 38/17
3) 38/7
4)19/7

Correct Answer:  38/7
Candidate Answer: [ NOT ANSWERED ]

QID : 169 - What is the simplified value of tan (68/2) + cot (6/2)?

tan (/2) + cot (6/2) T WRTIPd T FT 82
Options:

1) 2 cosec 6

2)2secB

3)sin6

4) cosec 6
Correct Answer: 2 cosec 6
Candidate Answer: 2 sec 6

QID : 170 - What is the simplified value of [(sec3x — tan3x)/(sec x — tan x)] — 2 tan®x — sec x tan x?

[(sec3x . tan3x)/(sec X —tan x)] -2 tan?x — sec x tan x &1 W T 1 82
Options:
1)0

2)2
3)-1

4)1
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID: 171 -Ifsin8 8 + cos® 8 — 1 = 0, then what is the value of cos? 6 sin 8 (If © # 0 or n/2)?

T sind 0 + cosB 8- 1 = 08, ¥ cos? 0 sin? © BT AM FT IS 6 # 07T n/2)?
Options:

1)-1

2)0

3)1

4)2

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]
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QID: 172 -

The table given below represents the marks obtained
by 5 students in 4 different subjects. Each student
was given marks out of 100 in each of the given
subjects.

arr & a8 o # 5 oTE a4 3yerer-39eleT uat
F Ut HFPT F RAT T & Uedd oIF o gH
fawar F 1007 & 376 fow omw €

Student | English | Mathematics | Science | Hindi
GE] 35T ifoT fasa | &
1 87 96 90 81
2 74 99 94 89
3 89 99 99 92
4 62 89 96 91
5 95 92 92 86

In which subject the total marks of all the students is highest?
for favg & ot o1 & $a sid sifiwag 82

Options:

1) English

G‘QS

2) Mathematics

Tford

3) Science

4) Hindi

Correct Answer:  Mathematics

Candidate Answer:  Mathematics

QID: 173 -

The table given below represents the marks obtained
by 5 students in 4 different subjects. Each student
was given marks out of 100 in each of the given
subjects.

drr & a8 anferer 5 oSt a4 arerer-3veeT fAwar
#F Ut HFT F RMAT T & Uedd oIF T FH
fowar & 1007 & 316 fow amw §

Student | English | Mathematics | Science | Hindi
GE] 31T T faama | &
1 87 96 90 81
2 74 99 94 89
3 89 99 99 92
4 62 89 96 91
5 95 92 92 86

Which student scored the maximum marks in all the 4 subjects taken together?

g o 7 Tt 4 fawg! &) fireer Faiftie sie U feu 82

- Powered by IBT
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Options:

1) Student 1
®/H 1

2) Student 2
BH 2

3) Student 3
®H 3

4) Student 5
®F 5

Correct Answer:  Student 3
B3

Candidate Answer:  Student 3
B 3

QID: 174 -
The table given below represents the marks obtained
by 5 students in 4 different subjects. Each student
was given marks out of 100 in each of the given
subjects.

#rr & 7 arferRr # 5 oSt T 4 3rerer-37eleT Ruat
F UTg Rt T ATAT T | USAE oI F gt
fawat ot 100 @ 37 fow amw €

Student | English | Mathematics | Science | Hindi
o | s o foeer | R
1 87 96 20 81
2 74 99 94 89
3 89 99 99 92
o 62 89 96 91
5 95 92 92 86

A new subject is added in which all the students have scored 100 marks. If total marks are calculated as sum of the marks of highest 4 subjects, then who will be
second in terms of total marks?

T T fawg & 2nfira forar wan B, o ot B A 100 37 U fFU1 Al ITF T ST B 0T F AT 4 I=aw siwt ara fawt &1 di fasan man B, a siat
F SMMYR TR g WM W $HH gIm?
Options:

1) Student 3

BH 3

2) Student 2

BH 2

3) Student 5

BH5

4) Student 4

BH 4

Correct Answer:  Student 2
B 2

Candidate Answer:  Student 5
®H 5
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QID: 175 -
The table given below represents the marks obtained
by 5 students in 4 different subjects. Each student
was given marks out of 100 in each of the given
subjects.

arr & a8 o # 5 oTE a4 3yerer-39eleT uat
F Ut HFPT F RAT T & Uedd oIF o gH
fawar F 1007 & 376 fow omw €

Student | English | Mathematics | Science | Hindi
GE] 35T ifoT fasa | &
1 87 96 90 81
2 74 99 94 89
3 89 99 99 92
4 62 89 96 91
5 95 92 92 86

The average marks per student in English is what percent of the average marks per student in Hindi?

ol & ufay o 3hud 8iwp, &t & ufd o oiia it &1 fapam ufawra 82
Options:
1) 91.48

2)97.12
3)92.71

4)98.18
Correct Answer:  92.71
Candidate Answer: [ NOT ANSWERED ]

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No error'.

My sister-in-laws (1) / who lives in Kolkata (2) / have come to stay with us. (3) / No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 3

QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No error'.

These kind of clothes (1) / are rather expensive (2) / for me to buy. (3) / No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The employee did not to the argument of the manager.
Options:

1) precede

2) exceed

3) concede

4) recede

Correct Answer:  concede

Candidate Answer:  precede
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QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

He was sworn as the Prime Minister of our country.
Options:

1)in

2) off

3) about

4) out

Correct Answer: in
Candidate Answer:  out

QID : 180 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Cantankerous
Options:

1) Humorous
2) Quarrelsome
3) Remorseful
4) Dullness

Correct Answer:  Quarrelsome
Candidate Answer: [ NOT ANSWERED ]

QID : 181 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Connoisseur

Options:

1) Decisive

2) Uncivilised

3) Discerning Judge

4) Narrow-minded

Correct Answer:  Discerning Judge

Candidate Answer:  Discerning Judge

QID : 182 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Nugatory
Options:

1) Delusive
2) Futile

3) Unreal

4) Productive

Correct Answer:  Productive
Candidate Answer: [ NOT ANSWERED ]

QID : 183 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Naive
Options:

1) Artful

2) Candid

3) Credulous
4) Sincere

Correct Answer:  Artful
Candidate Answer:  Sincere

QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

Mealy-mouthed

Options:

1) Ill-tempered

2) Soft-spoken

3) Enthusiastic

4) Depressed

Correct Answer:  Soft-spoken

Candidate Answer: [ NOT ANSWERED ]

QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

By fits and starts

Options:

1) Occasionally

2) Totally

3) Finally

4) Irregularly

Correct Answer:  Irregularly
Candidate Answer:  Irregularly
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QID : 186 - Improve the bracketed part of the sentence.

I had (not only helped her by)  giving hints but also with providing him links.
Options:

1) helped not only to her by.

2) helped her not only by

3) not only helped her

4) No improvement

Correct Answer:  helped her not only by

Candidate Answer:  helped her not only by

QID : 187 - Improve the bracketed part of the sentence.

We (has finished) our lunch half an hour ago.
Options:

1) finished

2) will have finished

3) had finished

4) No improvement

Correct Answer:  finished

Candidate Answer:  had finished

QID : 188 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

The act of speaking irreverently about sacred things.
Options:

1) Atheist

2) Blasphemy

3) Bellicose

4) Defection

Correct Answer:  Blasphemy

Candidate Answer: [ NOT ANSWERED ]

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A person who talks too much of himself.
Options:

1) Egoist

2) Elite

3) Emetic

4) Egotist

Correct Answer:  Egotist

Candidate Answer:  Egoist

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Entrepreneur

2) Remuneration

3) Apprentice

4) Soveriegnity

Correct Answer:  Soveriegnity

Candidate Answer:  Remuneration

QID : 191 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Tranquillity

2) Perseverence

3) Resplendence

4) Accommodation

Correct Answer:  Perseverence
Candidate Answer:  Tranquillity

QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: In other countries which are populated by 'haves', frustration is among them also because they do "haves".
Q: In some countries, frustration exists because these countries are populated by "have-nots".

R: Frustration is a global cancer.

S: It has spared no country.

Options:

1) RSQP

2) SQRP

3) PSRQ

4) QRPS

Correct Answer:  RSQP

Candidate Answer:  RSQP
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QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: The real purpose underlying this maxim lies in its utility in the worldly sense.

Q: He has within him a spirit which is ever exhorting him to cut down his needs and learn to be happy with what he has.
R: Man is something much greater than an intelligent being using his intellect to make newer inventions from time to time.
S: It tells us to be up and doing, not to be passive in our attitude to life.

Options:

1) PRQS

2) QPSR

3) RQPS

4) SRPQ

Correct Answer:  RQPS

Candidate Answer:  RQPS

QID : 194 - In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

Why do you waste money?

Options:

1) Why is money been wasted by you?

2) Why has money been wasted by you?

3) Why is money wasted by you?

4) Why is money being wasted by you?

Correct Answer:  Why is money wasted by you?
Candidate Answer:  Why is money wasted by you?

QID : 195 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The doctor said, "well, what can I do for you?"

Options:

1) The doctor wanted to know what he could do for her.

2) The doctor said that he couldn't do anything for her.

3) The doctor asked what he couldn't do for her.

4) The doctor wondered what he could do for her.

Correct Answer:  The doctor wanted to know what he could do for her.

Candidate Answer: [ NOT ANSWERED ]

QID : 196 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives. The world has seen a growth in several spheres.

Agricultural production, industrial production, communication, medicine, education etc, have seen growth. We can safely assume that the future is not as
as once appeared to be. We are not by a vision of hungry hordes overwhelming world food resources. Although it is that many people, especially in the
developing countries, are hungry, illiterate and to diseases.
The world has seen a growth in several spheres.
Options:
1) tremendous
2) mere
3) hardly
4) slow

Correct Answer:  tremendous
Candidate Answer:  mere

QID : 197 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives. The world has seen a growth in several spheres.

Agricultural production, industrial production, communication, medicine, education etc, have seen growth. We can safely assume that the future is not as
as once appeared to be. We are not by a vision of hungry hordes overwhelming world food resources. Although it is that many people, especially in the
developing countries, are hungry, illiterate and to diseases.
Agricultural production, industrial production, communication, medicine, education etc, have seen growth.
Options:
1) equal
2) unprecedented
3) negligible
4) negetive

Correct Answer:  unprecedented
Candidate Answer:  negligible

QID : 198 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives. The world has seen a growth in several spheres.

Agricultural production, industrial production, communication, medicine, education etc, have seen growth. We can safely assume that the future is not as
as once appeared to be. We are not by a vision of hungry hordes overwhelming world food resources. Although it is that many people, especially in the
developing countries, are hungry, illiterate and to diseases.

We can safely assume that the future is not as as once ap peared to be.
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Options:

1) good

2) strong

3) bleak

4) high

Correct Answer:  bleak
Candidate Answer:  good

QID : 199 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives. The world has seen a growth in several spheres.

Agricultural production, industrial production, communication, medicine, education etc, have seen growth. We can safely assume that the future is not as
as once appeared to be. We are not by a vision of hungry hordes overwhelming world food resources. Although it is that many people, especially in the
developing countries, are hungry, illiterate and to diseases.
Although it is that many people, especially in the developing countries,
Options:
1) unclear
2) false
3) incorrect
4) true

Correct Answer:  true
Candidate Answer:  unclear

QID : 200 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives. The world has seen a growth in several spheres.

Agricultural production, industrial production, communication, medicine, education etc, have seen growth. We can safely assume that the future is not as
as once appeared to be. We are not by a vision of hungry hordes overwhelming world food resources. Although it is that many people, especially in the
developing countries, are hungry, illiterate and to diseases.

are hungry, illiterate and to diseases.
Options:

1) prone

2) averse

3) liable

4) engross

Correct Answer:  prone

Candidate Answer:  prone





